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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours/Programme 3rd Semester Examination, 2021-22 

PHSHGEC03T/PHSGCOR03T-PHYSICS (GE3/DSC3) 
THERMAL PHYSICS AND STATISTICAL MECHANICS 

Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate marks of question. pািnক সীমার মধ°s সংখ°ািট pেűর মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীেদর িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর িদেত হেব। 

All symbols are of usual significance. 

 Question No. 1 is compulsory and answer any two from the rest 

১ নং pű আবিশ°ক এবং বাকী pűgিল �থেক �য-�কােনা dিট  pেűর উtর দাও 

1. Answer any ten questions from the following: 
িনmিলিখত েয-েকােনা দশিট  pেűর উtর দাওঃ 

2×10 = 20

(a) State the First Law of Thermodynamics. 
তাপগিতিবদ°ার pথম সূt িববৃত কেরা। 

(b) Why is thermodynamic work done an imperfect differential? 
তাপগতীয় কাযর্ অসmূণর্ অবকল েকন ? 

(c) Define Quasistatic Process. 
pায় িsর pিkয়া িববৃত কেরা। 

(d) Can two isothermal graphs intersect each other? 
dিট সেমাŹ েলখ পরsরেক েছদ করেত পাের িক ? 

(e) 20 g of hydrogen gas at 20 C are compressed isothermally to one-fourth of the 
original volume. Find the value of the work done. 
20 g হাইে»ােজন গ°াস-েক 20 C তাপমাtায় সেমাŹ pিkয়ায় pাথিমক আয়তেনর এক-চtথর্াংশ 
আয়তেন সংkিচত করা হল। এই pিkয়ায় গ°াস কtর্ক কােযর্র মান িনণর্য় কেরা। 

(f) When air gets heated, it flows upwards. Then why do mountain tops have lower 
temperature than sea surfaces? 
বায়ু গরম হেল উপের উেঠ যায়। তা সেttও সমুdপৃেŸর tলনায় পাহােড়র শীেষর্ েবিশ ঠাčা েকন ? 

(g) What is meant by Gibb’s free energy? 
িগবেসর মুk শিk কী ? 

(h) Prove, pressure of gas, ,
TV

FP ⎟
⎠
⎞

⎜
⎝
⎛  where F = Helmholtz free energy. 

েদখাও েয  গ°ােসর চাপ ,
TV

FP ⎟
⎠
⎞

⎜
⎝
⎛  েযখােন F = েহল ্ মেহাত ্  েসর মুk শিk।  
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(i) Define coefficient of thermal conductivity of a gas. State its SI unit. 
গ°ােসর তাপ পিরবািহতাì কােক বেল ? এর SI একক কী ? 

(j) What do you mean by Joule-Thomson effect? 
জুল-টমসন িkয়া বলেত কী েবােঝা ? 

(k) State the Principle of Equipartition of Energy. 
শিkর সমিবভাজন নীিত িববৃত কেরা। 

(l) Draw the spectral distribution of an ideal black-body for three different 
temperatures T1, T2, T3 following Wein’s Displacement Law. 
উইেনর সরল সূt েমেন, িতনিট তাপমাtার (T1, T2, T3) জন°, kŹবstর িবিকরেণর বণর্ািল বĊেনর 
িচtিট অìন কেরা। 

(m) What are macrostates and microstates? 
ম°ােkা-দশা ও মাইেkা-দশা কােক বেল ? 

(n) What is the significance of enthalpy? 
এনথ°ালিপর তাৎপযর্ কী ? 

  
2.  (a) Show that for an adiabatic process, the equation of state of a gas is 

PV  constant. 

pমাণ কেরা েয rdতাপ pিkয়ায় গ°ােসর অবsার সমীকরণ PV  rবক।  

4

(b) An ideal monoatomic gas has undergone a cyclic process ABCDA as shown in the 
figure. What will be the work done in this cyclic process and what will be the 
amount of heat transferred during the entire cycle? 

একিট আদশর্ একপরমাণুক গ°াসেক িচেtর মেতা ABCDA আবতর্ pিkয়ার মধ° িদেয় িনেয় যাওয়া 
হল। এই আবতর্ pিkয়ায় kতকাযর্ কত এবং সমg pিkয়ািটেত কত তাপ সরবরািহত হেয়েছ ? 

(2P, V) (2P, 2V)

(P, V) (P, 2V)

P

V

A

B C

D

 

3

(c) Find the relation between the slopes of adiabatic and isothermal curves. 

rdতাপ ও সেমাŹ েলখ-এর নিতর মেধ° সmকর্ sাপন কেরা। 

3

  
3.  (a) Show that the work done by a gas in an isothermal process is W = nRT ln (P1/P2), 

symbols have usual meaning. 
েদখাও েয সেমাŹ pিkয়ায় গ°াস কtর্ক কাযর্ W = nRT ln (P1/P2) হয়। 

4

(b) Write down the TdS equations in thermodynamics. 
তাপগিতিবদ°ার TdS সমীকরণgিল েলেখা। 

3

(c) The number of particles per unit volume of a gas is 3×1026. If the radius of a gas 
molecule is 2 Å, find its mean free path. 
একিট গ°ােসর pিত ঘনিমটাের অণুর সংখ°া 3×1026  হেল এবং গ°াসিটর অণুর ব°াস 2 Å হেল গ°াসিটর 
অণুgিলর গড় মুkপথ িনণর্য় কেরা। 

2
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(d) Write down Maxwell-Boltzmann Distribution Law in Statistical Mechanics. 

পিরসংখ°ান বলিবদ°া অনুযায়ী মাkওেয়ল-েবাlজম°ান বĊন সূtিট েলেখা। 
1

  
4.  (a) How can you relate Wien’s law and Rayleigh-Jeans law with Planck’s law of 

energy distribution in radiation spectrum? 

p°ােìর িবিকরণ বণর্ালীর শিk বĊন সূেtর সােথ ভীন ও র °ােল-জীনs সূেtর সmকর্ কী ? 

3

(b) How much heat energy will be radiated per second from a blackbody with a 
temperature of K1000  and an area 5102 cm2? At which temperature will it 
radiate double of this energy? Given Stefan’s constant 81067.5 Wm–2 K–

 

4. 
5102 cm2 েktফল সmn একিট kŹবst K1000  উŹতায় কতটা তাপশিk িবিকরণ করেব ?

েকান ্   উŹতায় এর dইgণ তাপশিk িবিকরণ করেব ? pদt —  িsফান rবক 81067.5 Wm–2

K–
 

4। 

3

(c) State Maxwell’s Law of distribution of molecular speeds in gases. Show that the 
most probable speed is given by m

kT
mpC 2  where the symbols are bearing usual 

meaning. 

মাkওেয়েলর েবগ–বĊন সূtিট িববৃত কেরা। েদখাও গ°°স অণুgিলর সবর্ােপkা সmাব° গিতেবগ 
m
kT

mpC 2  েযখােন ব°বhত িচhgিল pচিলত অথর্বহ। 

1+3

  
5.  (a) Justify that ‘Under isothermal condition, the external work done by a system is at 

the cost of its Helmholtz free energy’. 

ব°াখ°া কেরা— ‘সেমাŹ অবsায়, বst কtর্ক বািহ°ক kতকাযর্ তার েহলেমাlজ িÅ এনািজর্-র মূেল° 
সmn হয়’। 

3

(b) State two characteristics of Maxwell-Boltzmann Statistics. 

মাkওেয়ল-েবাlজম°ান পিরসংখ°ান-এর dিট �বিশŶ° েলেখা । 

2

(c) Determine the change in entropy when 15 gm of ice melts into water at 0°C. 
Given, latent heat of ice= 80 cal/g. 

15 gাম বরফ গেল 0°C উŹতায় জেল পিরণত হেল এন¹িপর পিরবতর্ন িনণর্য় কেরা। pদt, বরেফর 
লীন তাপ 80 cal/g। 

3

(d) Draw the TS diagram of a Carnot cycle. 

কােনর্া চেkর TS েলখিচtিট আঁেকা। 

2

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script.  

 ——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours/Programme 3rd Semester Examination, 2020, held in 2021 

PHSHGEC03T/PHSGCOR03T-PHYSICS (GE3/DSC3) 
THERMAL PHYSICS AND STATISTICAL MECHANICS 

Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

 Answer Question No. 1 is compulsory and answer any two from the rest 

১ নং pű আবিশ°ক এবং বাকী pűgিল �থেক �য-�কােনা dিট  pেűর উtর দাও 

1. Answer any ten questions from the following: 

িনmিলিখত েয-েকােনা দশিট  pেűর উtর দাওঃ 

2×10 = 20

(a) Three distinguishable identical particles are distributed in two states of different 
energies. If more than one particle can be in a state, find the number of macrostates 
and the total number of microstates for the distribution. 

িতনিট pেভদেযাগয্ সদৃশ কণােক dিট িভn শিksের িবনয্s করা হল। একিট sের একািধক কণা থাকেত 
পাের। এেkেt, বnনিটর ময্ােkা-অবsার সংখয্া ও মাইেkা-অবsার েমাট সংখয্া িনণর্য় কেরা। 

(b) State the significance of the first law of Thermodynamics. 

তাপগিতিবদয্ার pথম সূtিটর তাৎপযর্ বেলা। 
(c) Differentiate between reversible and irreversible processes. 

pতয্াবতর্ক (reversible) ও অpতয্াবতর্ক (irreversible) pিkয়ার পাথর্কয্ কেরা।  
(d) Show that in a P-V diagram, the adiabatic curve is steeper than the isothermal curve 

at any given point. 

েদখাও েয, P-V েলখিচেt েয-েকােনা pদt িবnুেত rdতাপ েরখা সেমাŹ েরখার েচেয় েবিশ খাড়া। 
(e) Draw indicator diagrams for  (i)  an isobaric and  (ii)  an isochoric process. 

(i) সমচাপী (isobaric) pিkয়া এবং (ii) সমায়তনী (isochoric) pিkয়ার সূচক িচt অìন কেরা। 
(f) Define entropy. State its physical interpretation. 

এন¹িপর সংjা দাও। এর েভৗত বয্াখয্া দাও। 
(g) The temperature of 500 g of air is raised by 2°C at constant volume. Calculate the 

change in its internal energy.  Given CP = 1000 J kg–1K–1 and γ = 1.4 for air. 

িsর আয়তেন 500 g বায়ুর তাপমাtা 2°C বৃিd করা হল। এেkেt আভয্nরীণ শিkর পিরবতর্ন গণনা 
কেরা। pদt, বায়ুর জনয্ CP = 1000 J kg–1K–1 এবং γ = 1.4। 
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(h) Assuming entropy to be a function of temperature and volume show that  

 dV
T
PTdTCSdT

V
V ⎟

⎠
⎞

⎜
⎝
⎛  

এন¹িপেক তাপমাtা ও আয়তেনর অেপkক ধের েদখাও েয, 

 dV
T
PTdTCSdT

V
V ⎟

⎠
⎞

⎜
⎝
⎛  

(i) What is Gibbs free energy? 
িগবস মুk শিk কী ? 

(j) Write down Clausius-Clapeyron equation, explaining all the terms. 
সমs পদgিলর বয্াখয্াসহ kিসয়াস-kয্ােপরন সমীকরণিট েলেখা। 

(k) What is the relation between thermal conductivity and thermal diffusivity? 
তাপ পিরবািহতাì এবং তাপ বয্াপনতার মেধয্ সmকর্ কী ? 

(l) State the principle of equipartition of energy. 
শিkর সমিবভাজন নীিত িববৃত কেরা। 

(m) Plot Maxwell’s speed distribution function for two temperatures T1 and T2 (T2 > T1) 
on the same graph. 
dিট তাপমাtা T1 এবং T2 (T2 > T1)-এর জনয্ ময্াkওেয়ল-এর গিতেবগ বĊন অেপkক একই েলখিচেt 
আঁেকা। 

  
2.  (a) Show that the work done by an ideal gas in an isothermal process is 

 )ln( 21 PPRTnW  

1P  and 2P  are respectively the initial pressure and final pressure of the gas. 
েদখাও েয সেমাŹ pিkয়ায় আদশর্ গয্াস কtর্ক kতকাযর্ 
 )ln( 21 PPRTnW  

1P  ও 2P  হল যথাkেম গয্ােসর pাথিমক ও অিnম চাপ। 

3

(b) Whenever the pressure inside a car tyre reaches three times the atmospheric pressure, 
it bursts. Assuming the tyre-burst to be an adiabatic process, find the ratio of the final 
temperature to the initial temperature. Given,  =1.4. 
েকােনা গািড়র চাকার িভতেরর বায়ুচাপ বায়ুমčলীয় চােপর িতনgণ হওয়ামাt চাকািট েফেট যায়। চাকা 
ফাটার ঘটনািটেক একিট rdতাপ pিkয়া িহসােব িবেবচনা কের অিnম এবং pাথিমক উŹতার অনুপাত 
িনণর্য় কেরা। pদt,  =1.4। 

3

(c) Find the difference between CP  and CV for an ideal gas. 
আদশর্ গয্ােসর জনয্ CP  এবং CV-র অnরফল িনণর্য় কেরা। 

3

(d) State the principle of increase of entropy. 
এন¹িপ বৃিdর নীিত িববৃত কেরা। 

1

  
3.  (a) State Carnot’s theorem. 

কােনর্া-র উপপাদয্িট িববৃত কেরা। 
2

(b) Find the efficiency of a Carnot engine working between temperatures 500 K and 
300 K. If the source temperature is decreased to 450 K, what is the percentage change 
in efficiency? 
একিট কােনর্া ইিĂেনর উৎেসর উŹতা 500 K এবং তাপgাহেকর উŹতা 300 K । এর কমর্দkতা কত ? 
উৎেসর উŹতা কেম 450 K হেল কমর্দkতার কত শতাংশ পিরবতর্ন হেব ? 

3
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(c) Calculate the work done in isothermal compression of 2 moles of an ideal gas at 27°C 
to one-fourth of its volume. 
27°C উŹতায় সেমাŹ সংেকাচেনর ফেল 2 েমাল আদশর্ গয্ােসর আয়তন এক-চtথর্াংেশ পিরণত হেল 
kতকাযর্ কত হেব তা গণনা কেরা। 

3

(d) Find the ratio of 2
rmsc  of an ideal gas at 200 K and 800 K, where rmsc  is the root mean

square velocity. 
েকােনা আদশর্ গয্ােসর অণুর গড় বগর্ গিতেবেগর বগর্মূল (rms) rmsc  হেল, 200 K এবং 800 K উŹতায়
ওই গয্ােসর 2

rmsc -এর অনুপাত কত হেব ? 

2

  
4.  (a) Write down the four Maxwell’s relations. 

ময্াkওেয়ল-এর চারিট সmকর্ েলেখা। 
2

(b) Show that Joule-Thompson coefficient is zero for an ideal gas. 
েদখাও েয আদশর্ গয্ােসর েkেt জুল-টমসন (Joule-Thompson) gণাì শূনয্ হয়। 

3

(c) Define Helmholtz free energy and find out the change in Helmholtz free energy
during an infinitesimal reversible process in a gas. 
েহলমেহাৎজ (Helmholtz)-এর মুk শিkর সংjা দাও। েকােনা গয্ােসর kdািতkd pতয্াবতর্ক 
পিরবতর্েনর েkেt েহলমেহাৎজ-এর মুk শিkর পিরবতর্ন িনণর্য় কেরা। 

1+2

(d) Write down Maxwell-Boltzmann energy distribution law in Statistical Mechanics. 
পিরসংখয্ান বলিবদয্া অনুযায়ী ময্াkওেয়ল-েবালৎজমান শিk-বĊন সূtিট েলেখা। 

2

  
5.  (a) Define mean free path of a gas molecule. The number of particles per cubic metre of 

a gas is 3×1026. If the radius of a gas molecule is 2 Å, find its mean free path. 
একিট গয্াস অণুর গড় মুkপেথর সংjা দাও। একিট গয্ােসর pিত ঘনিমটাের অণুর সংখয্া 3×1026 এবং 
গয্াসিটর অণুর বয্াস 2 Å হেল গয্াসিটর অণুgিলর গড় মুkপথ িনণর্য়  কেরা। 

1+2

(b) Derive Rayleigh-Jeans law from Planck’s law of blackbody radiation. 
pয্াì-এর kŹবst-িবিকরেণর সূt েথেক র য্ােল-িজনস-এর সূtিট pিতŸা কেরা। 

3

(c) The wavelength ( max) corresponding to maximum of the spectral distribution of a 
blackbody kept at temperature 1373 C is 1.78 micron. If an astronomical object 
(assumed to be a blackbody) has max = 14 micron, find its temperature. 
1373 C উŹতায় থাকা একিট kŹবstর িবিকরণ বণর্ািলর সেবর্াc (maximum) িবnুেত িবিকরেণর 
তরñৈদঘর্য্ max = 1.78 মাইkন। যিদ েকােনা েজয্ািতেŴর জনয্ max = 14 মাইkন হয় তাহেল েসিটর 
উŹতা কত ? (ধের নাও েজয্ািতŴিট একিট kŹবst)। 

2

(d) State the law of thermodynamics that establishes the concept of temperature. 
তাপগিতিবদয্ার েয সূtিট উŹতার ধারণা pিতŸা কের, েসিট েলেখা। 

2

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end of 
exam. University / College authorities will not be held responsible for wrong submission (at in 
proper address). Students are strongly advised not to submit multiple copies of the same 
answer script.  
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210 20 1. Answer any ten questions from the following:

(a) State zeroth law of Thermodynamics. 

(b) Define work done by a thermodynamic system. 

(c) What is meant by reversible process in thermodynamics? 

(d) State Carnot's theorem. 

(e) Distinguish between the concepts of microstate and macrostate. 

(f)What is meant by Heimholtz free energy? 

(g) What is Joule-Thomson effect? 

(h) Write down Maxwell's law of speed distribution of gas molecules. 

G) Explain the physical significance of entropy 

g) State Wien's displacement| 

(k) The average kinetic energy of a molecule of H2 at 0°C is 5.6x 10 Joule. Calculate 

the Avogadro number. Given R 8.31 /K-mol. 

R 8.31 J/K-mol. 
d) Which are the essential differences between the BE statisties and FD statistics? 

(m) What is meant by degrees of freedom ofa molecule in kinetic theory of gases? 
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(n) What is meant by diffusion of a gas? 

2. (a) State the first law of Themodynamics. Show that for reversible adiabatic process in 

ideal gas PV"= constant, where the symbols are bearing usual meaning. 
2+3 

(b) Show that Cp-C = R, for a mole of ideal gas, using the fact that internal energy 

of ideal gas may be expressed as a function of temperature only (symbols bearing 

usual meaning). 

GFTS Cp-Cy = R (Be ER A 7a)I 
(c) What is an ideal black body? 

44+1 3. (a) Find the efficiency of an ideal gas Carnot engine working between two temperature 
baths at 7, Kk and T, K(7>T,) respectively. Plot schematically this cyclic process 
on T-S diagram. 

2 (6) Can we get an efficiency of 52% from a Carnot engine working between 
temperatures 600 K and 300 K? Explain. 
300 K 600 K T Fr 4 Ti RST7A wFel 52% ROG AA ? TI1 PIST 

() State the law of equipartition of energy and use it to find Cp/C, for a diatomic ideal 1+2 

gas. 

Cp/C, Aa 

1+3 4. (a) What is r.m.s speed of gas molecules? Find its relation with temperature of the gas. 

2+1 b) What is Fermi gas? Why do you consider electron gas as a Fermi gas? 

1+2 (c) What is meant by enthalpy? How can one predict a chemical reaction to be 
exothermic or endothermic from the calculations of enthalpy? 

1+3 5. (a) Write down Bose-Einstein distribution law. How can one obtain Planck's 

distribution law from it? 

2+4 (b) What is meant by mean free path of gas molecules? Find its relation with the 

coefficient of viscosity of a gas. 

3232 
2 


